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1. (10 pts) If two resistors with resistances R, and R, are

connected in parallel, as in the figure on the right, then

the total resistance R, measured in ohms (Q), is given ‘é R, “‘:3 R,
by

I 1 1

—=—+—.

R R R

If R and R, are increasing at rates of 0.4 /s and 0.1 €} /s, respectively, how fast is R changing when

R =90 Q and R, =70 Q?
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@ A Ferris wheel with a radius of 11 m is rotating at a rate of one revolution every 2

minutes. How fast is a rider rising when his seat is 16 m above the ground?

Uece k«\l) or— uﬁmﬂ

as op.‘j)h.

|

o | [\Qﬂ = V"".J‘\‘J J
! L e O AL
S ’ =2 ’ h’ A"“'"E'

[\
)
%
XY
7|l
U
54 ¥
¥y 3 1
q,Q)

< bM r-ev Ve T
- o
e, f(ek_ = w;B ot
(2 lj._(
ot 8@ 575, e 1
(%) — ‘
e= ancsih Ve = v
o‘ (wc‘u\" (_\t 3) l =2\'Y \’19
_) - eo$ '3
y= <
4G TV~ -uve
bl _— i~
- W\ A VA,




written-07-solns.notebook March 13, 2025

0 miLS

LY
@ F)= (e = GedF

@ WJL"'\G‘ 'CZ'IH o£ J'W._L _,Q.‘ht + ;:[KJ
@ 6,9 = (23

Ly)y=3 = L& (

-3 N —

fla= L (e ‘= ANVT -
e I
,p’&,\:f"h—): Nare | U3) Co

LG)= £'6)e-%) + £x.)
_(;- = %‘(v—'—‘l—\-‘—3=l—c"3 cp = 1@

'eD

(-, 0) (-0 ‘



written-07-solns.notebook March 13, 2025

S0 Mo LS
Y p‘,'.d’ers pa,'v\*'('u &\chss é-]—op OS e OKJ'S.JQ

2§ < cchd""f-J w-\'LM "’M'L w.'-lﬂs racd™ms <= 5"-]-’4- c..-.A

g =10 £ e Bond vk of pandt Ancded for

qQ 0.00‘0 h COQ'I— "’p Pg\,‘y\" Thn 1‘4}475‘:

@-‘rzd“ qugwaqlm- (-P+1>? l C

-‘nc‘lM. ’I_lu— acJol-/\~7 G ctoad ?
Lot V-:.vae.....e 9C"’|-¢c7/e ‘I_LL
) + 006 in ‘\"“\‘—L r~sr00§ . va'ew-—c “w creaces + <

‘;‘;« e dnde wikh =S "(‘°°""")(:Li"{:‘x :

N
e b4+ (000 ) (o

T ke vt rmeed b on Ferms
V)= w c¥h
\/(f ‘\'A’,"‘+ A\“) -V (f‘, L\ s-aoDUooo /T

= 5 (5 2Z)(w0+ 3%’) - (I'L)(“’) 7 T@0000x000

o r

~ 0.1963652 £+

@@ w4 A.‘GC«_...L:._Q

A}J—!J s V"";'QL&' Ham—— - L J'JA- OL ‘I’L\.‘n/(, qéo‘_l ‘/4\<L

MD\Jl)( L e PQL"L ;'L' ~ __
es L= 10, V=T (Y (@) =507
wha. =5 ,
2, =7 h =22 No htp-
NPT =T ¢
No pakeh.

No 7\»5‘**5 wane A;I&J- No cur,‘oSl"ljl Tjkess.

This question is porly posed. You can do part a, but part b? Not so much. Not in a course in
single-variable calculus.
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Calculator result: 0.5446390350
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